RENUI-Y3Y

BREYA 2
50(1) |65(2) [75(3) | 100(4)

99

140

40

97
92
140

40

/8
42

140

40

AT

B
Citi

Dfis

pA

YU
Bx | |
|
f
O
frd
T I
o
(@)
W
YU
B
O Vo
X

=
X

O éf/

ORE

=
X

D134 (%)

D135 (41)

0G

9166

06§

O

0O<c
X O
w2

=

£1,0125A /
|
9140

540

X HAHBASTE

FEBE

26
e

(—8t) ORED Sz Y9

ERR SRS

B b o4 )

vl
o

REVITETE (BB

e HERAOHKORA

2
~ |~
Iia
Df@
_
U
g
o
=R
aBlolwvw|lo
33|~ |
[
O
)
HY
N
e
Elo|lo|lo
o=
=|—|—|=
55
v
it
NPRL
<IN =
F AP
| oD |-
vﬁVA
o ~
N m

~4VSR-0005-003/\

2025.2.20 S

= |PS

-3
A
H

PS—4VSR—DT1

5=vDx

IR

B2 o




